Aluminum Skid Plate Mini- R55, R56, R57

Check to make sure you have all parts listed prior to installation
If anything is missing contact us immediately.

(1} Skid Plate

(2] Rubber Bumpers P/N -MC23945K33

(23 1/4-20 nuts P/N- MC954628029

(2} Mounting Brackets with 1/4-20 cage nuts

(2) M12 x 90 balts P/N MC912804737

(4 M12 washers P/N MC91166A290

(2} M12 nuts PYN MC90591A181

(2} Spacers P/N - 5B67-C12

(21 1/4-20 » 875 5/5 Button head screws P/N MC929494541
(2} 1/4-20 % .375 5/S Button head screws P/N MC929494535
(B} 1/4"5/5 washers - MC92141A029

Step 3 - Install the (2} rubber standoffs as shown above. Using the Step 4 - Install the skid plate as shown. (A) M12 bolts, Washers and
supplied nuts and washer. Spacers. (B} 778" button head screws and washers (C) 3/8" button head
P/N - LI03 screws and washers,



